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CBA Practice paper model answers 

Basic Accounting I (BAI)
Practice assessment 4
Section 1
Task 1.1

[image: image2.png](a) What will be the entries in the purchases ledger?

Purchases ledger

Amount

Account name %

Debit  Credit

[Fowldes Lt

[Sanders Lta

PYP LG

lcC cars

(b) What will be the entries in the general ledger?

General ledger

Amount
£

g

Account name Debit  Credit

[Purchases ledger conrol

[Purchases

vaT





Task 1.2

[image: image3.png](a) What will be the entries in the sales ledger?

Sales ledger

Amount

Account name 5

Debit  Credit

[ODriscoll and Co

[Filland Holmes

(b) What will be the entries in the general ledger?

General ledger

Amount
£

v 4944]

Account name Debit  Credit

[Sales ledger control

[Sales retums

vaT





Task 1.3

[image: image4.png](a) What will be the TWO entries in the purchases ledger?

Purchases ledger

Amount

5 Debit  Credit

Account name

SH Electricals

SH Electicals

(b) What will be the FIVE entries in the general ledger?

General ledger

Amount

5 Debit  Credit

Account name

Purchases ledger control 1780

Purchases ledger control

Wotor venicles

Discounts recenved

Loan from bank





Task 1.4

[image: image5.png]Amount

30Jun |Opening balance | 150.00| 30 Jun [Prnter paper 1920 320 16.00
30 Jun [Tad fare 30,00 30,00
30 Jun [Window cleaner | 28.00 28.00
30 Jun Closing balance|  72.80
15000 5000 320]  3000] 1600|2800

General ledger

vaT

What will be the FIVE entries in the general ledger?

[Travel expenses

[Office expenses

[Other operating costs

[Petty cash control





Task 1.5

[image: image6.png](a) Insert the balance carried down together with date and details.

(b) Insert the totals.

(c) Insert the balance brought down together with date and details.

Hotel expenses

‘Amount " ‘Amount
[30Jun_"~|Balance cid B 32000[1un_[salancen 22000[
> = v Sl [Bank 70000[4]
> [Fotat 32000 32000[4
»| v [ aur B 320004






Task 1.6
[image: image7.png]|Administration expenses 2198 2198
[Bank charges 265| 265
[Bank overdraft 5,198 51|
[Capital 39,067 39067
[Cashin hand 1252| 1252]
[Commission received 3.750) 3750)
[Discounts allowed 620) 620
[Etectriciy .914] 1914]
[Furniture and fitings 5,620 15620
[General expenses ,629) 1620
[Inventories 27,100) 27100
[[oan from an investor 25,000 25000)
[Foan interest paid 700) 700
[Motor vehicles 33,600 33600
[Motor venicle expenses 2,162 2162
[Purchases 150,592| 150592]
[Purchases ledger control 44,605 44505|
[Purchases retuns 3,950 3960|
[Professional fees .830) 1830
[Rentand rates 2450 2450
[Bales 199,522 199522)
[Sales ledger control 66.430) 66430
[Travel expenses 520 920
[VAT owing from HM Revenue & Customs 12,820 12820
[Totals 322102 322102





Section 2

Task 2.1
[image: image8.png](a) Complete the entries in the sales returns day-book by inserting the appropriate figures for each credit

note.

Sales returns day-book

130 Jun |Green Products. 6,000 1000 5000 5,000
130 Jun |chowary Designs| ~ CN4247] 4080 680) 3400 3400
130 Jun [Tk Lta CN424g 012, 152| 760) 760)
130 Jun [McDower La CN4249 1440 240 1.200) 1.200|

[Purchases retums day-books should never includs analysis columns.

ISales invoices are entered in the purchases day-book.





Task 2.2
[image: image9.png](a) Check the invoice against the purchase order and select THREE items on the invoice
that do NOT agree with the purchase order.

m

[The number of reams of prnter paper

[The number of printer cartridges

[The product code of the printer paper

[The product code of the printer cartridges

[The price ofthe printer paper

[The price ofthe printer cartidges

[The rate of the bulk discount

[The amount of the settiement discount

(b) Assuming the goods delivered and prices were all as stated on the purchase order, what
‘should have been the total amount of the invoice including VAT?

= [3208






Task 2.3
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Section 2 - Tasks and Questions.

Candidate No: 1234656

© Question: 12

Gold Ltd codes all purchases invoices with a general ledger code, a supplier account code and  product

code.

Complete the following sentences.

» [generaliedger [l code s useato dentiy the account in which the purchase ofthe goods willbe recorded.
 [supptier account _JRl] code is usedto identiy the organisation ffom which the goods were purchased.
A [product T coce is usedtoideniity the type of goods purchased.
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Copy of Introduction

& Section1
‘6 Copy of 11 BAI CHOO0S
‘6 Copy of 12 BAI CHOO0S
6 Copy of 13 BAISPO0I0
‘6 Copy of 14 BAI CHOO0S
‘6 Copy of 15 BAI CHOO0S
‘65 Copy of 16 BAISPO012

& section2
‘6 Copy of 21 BAI CHOO0S
6 Copy of 22 BAISPOOI0
3 Copy of 23 BAISPO00S
6 Copy of 24 BAI SPO00B
6] Copy of 2.5 BAI SPO008
‘6] Copy of 26 BAI SPO00B
855 Copy of 27BAISP01no cH_
85| Copy of 28BAISPO0Lo cH
‘6] Copy of 29BAICH00Zn0 ¢
‘6] Copy of 210BAISPO0Lno

horing bank

E Author bank 2012 commissions

Page templates for authors

et bk 2011
Ko

2 solution Exp
Properties omx

Bl Page.

IsPageA| True
BageN 100%

B Scene

Currents Main Scene
LsScene) False
SceneM|100%

PageMark

Breview

Returns the current mark the user has
achieved for the page

Properties

Usemame: gemmamulreany (Standard User)

[Sorver:hitps//aat bllsupass oo Uk otart [ONLINE




Task 2.4
[image: image11.png](a) Calculate the balance on the supplier's account in Gold Ltd’s purchases ledger and reconcile this with
the balance showing on the supplier's statement of account.

[Balance on suppliers statement of account 5180)
[Balance on suppliers accountin purchases ledger 3720
Difierence 1460

(b) Which item on the supplier's statement of account has not yet been entered in the supplier's account

in Gold Ltd’s purchases ledger?

items

(Cheque for£1,250

Invoice number 384

Invoice number 488

(Credit note number 191

Invoice number 566






Task 2.5
[image: image12.png]CComplete the remittance advice ready for the next payment to Foster Wholesalers.

'REMITTANCE ADVICE

To: Foster Wholesalers

From: Gold Ltg

Payment method: Date of payment [24 Juy 20xx__ g

ifincluded in
payment
lo0dune  finvoice 491 1620
lo2 July lIvoice 556 2,185|
110 Juty |Creditnote 159 672|
17 uty lIvoice 698 1452
Total amount paid| £ 3133





Task 2.6
[image: image13.png](a) Complete the credit note below.

‘CREDIT NOTE
GoldLtg

14 High Street, Darton, DF11 4GX.

VAT Registration No. 208 3827 04

To: Satish and Parners Crecitnote number: 441

44 SummitRise Date: 22 July 200

Darton

DF6 4R Customer account cods: SAT18

£

710 | units orprovuctcode [rez1 | x = [_320] eacn =
Trade discount 75
Net 3344
VAT @ 20% B
Tota 0128

Reason for retum: Fauly goods supplied on invoice number 1305





Task 2.6, continued
[image: image14.png]{(b) Which general ledger account code would be used to code the credit note sent to Satish and Partners?





Task 2.7 

[image: image15.png](a) Complete the statement of account below..

'STATEMENT OF ACCOUNT

GoldLtg
14 High Street, Darton, DF114GX.

To: M Devon Date: 31 July 204¢

1 uly |opening balance 2170
le Juty |cheaue 970 1200
116 July lInvoice 1456 1406 2608
l20 Juty [creditnote o7 740 1866
los Juty lInvoice 1484 1960 3826

(b) Willthe balance brought down on 25 July be a debit or credit entry in the sales ledger of Gold Ltd?





Task 2.8
[image: image16.png](a) Has the customer underpaid or overpaid the amount owing?

[overpaia

(b) Whatis the amount of the under or over payment?

£ [0

Gold Ltd offers some customers a setfiement discount for payment within 10 days.

(c) Which ONE of the following options is the most appropriate way to deal with a customer who has.
taken a settiement discount but did not pay within 10 days?

Issue a credit note for the amount of he discount.

Contactthe customer and demand an immediate cash payment for the amount of he discount.

Contactthe customer and ask for a cheque for the amount of the discount

Issue an invoice for the amount of the discount.





Task 2.9
[image: image17.png]‘Select one option in each instance below to show whether the item will be capital expenditure, revenue
expenditure, capital income or revenue income.

[Purchase of a motor van for delivering goods to

besettornomitorson

[Receipts from the sale of goods to customers
Iwithout 2 credit account

[Receipts from the sale of goods to customers
with a credit account

SIS

[Recsipts from the sale of the old delivery van






Task 2.10
[image: image18.png]Show whether the transactions in the table below would increase, decrease or have no effect on the
assets, liabilties and capital of Gold Ltd.

(Gold Ltd bought office fumiture from a

CotaLissous rersszs [l | [reresee [l | (oot

(Gold Ltd took out a bank loan, and paid the

money o s bani curentsccount | [nrease RO | [norease  [EB | o etea
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